2.2 Notes Continued








Math 0312

1. A car salesman earned $6750 in commission on sales of automobiles amounting to $45000.  What was his rate of commission?

2.  A mixture of gasoline and oil contains 20 oz, 1 oz of which is oil.  What percent of mixture is oil? 

2.3 Notes
Solving Word Problems:

1. The length of a rectangle is 6 feet longer than twice the width.  If the room’s perimeter is 168 feet, what are the room’s dimensions? 

2. A promotional deal for a cell phone text plan charges a $15 basic fee plus $0.05 per text message.  If Jerri’s phone bill was $75 under this promotional deal, how many text messages did she send, to the nearest integer?

3. The revenue of Company X quadrupled.  Then it increased by $1.6 million.  The present revenue is $24.4 million.  What was the original revenue?
4.  Joe invested $12,000 in certificates of deposit paying 4%.  How much additional money should he invest in certificates paying 6% so that his total return for the investments will be $792?
5. How much water must be added to 10 quarts of an 8% concentrated detergent to reduce the concentration to 5%?

